¢t (cm) | YieldinBin A YieldinBinB  Yieldin BinC  Yield in Bin D
10 3.91 £+ 0.08 6.27 = 0.10 15.84 £+ 0.17 10.08 = 0.13
50 2.390 £ 0.040 23.20 £0.13 3.260 + 0.047 0.370 £ 0.015
100 1.620 £+ 0.037 14.20 £ 0.11 4.05 + 0.05 0.440 £ 0.019
200 0.851 £ 0.038 6.86 + 0.11 2.89 £ 0.07 0.366 £ 0.024
400 0.359 £ 0.024 3.27 £0.07 1.62 £ 0.05 0.202 £ 0.018
600 0.219 £ 0.019 2.09 £0.05 1.124 + 0.043 0.124 £+ 0.014
800 0.162 £ 0.016 1.54 £ 0.05 0.799 + 0.036 0.129 + 0.014

1000 0.146 £ 0.015  1.253 £0.044 0.667 + 0.032 0.086 + 0.011
1200 0.057 £0.009  0.994 £0.040  0.583 + 0.030 0.060 + 0.009
10000 0.0167 +£0.0034 0.221 £0.012 0.065 £+ 0.0060  0.0037 £+ 0.0016




